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ECONOMICS
( Major )
Paper : 3.1
( Elementary Mathematics for Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English orin Assamese

1. Answer the following questions as directed :
et PR were frg errTiEd Be fi B e

(@ fU=(56, 7 89} and A={7, 8}, write
the complement of A4, i.e., A°.

M U=(56,7,89 =F A=(78, A

ezfeq BRRRIEY f5 AC forar
If A= an
(b) i .{1,2,3,6} d B={(7 89}, find
21fﬁ1°.={1,236} € B ={7,8
] ) 8 ] ’9,
l }y AnB
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(2)

(c) Fill in the blanks : Vot Ya=1
1 3 @ 90 :

() If two sets have no common
elements, then they are called

sets.

I 9o WA @I AHET oA
T, cofew e RS G
el '

(i) If any two rows (or columns) of
a determinant are equal, the value
of the determinant is

I @ R 7o R (@1 v8) @@
=, MfAeORI= =3

(d) Given the matrix
a; G a3
A=1dy Gy ay,
431 QG3p daj,
Write the cofactor of the element ayy .
©ere ] AN
a1 G a3
A=lay ay ap,
G431 Q33 agzg

Ay BATFCEN FRSANS o= |
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(e)

(9)

()

U

1/}

(3)

Write True of False :

Tm ¢ SReE o

i) The graph of a rational function is
a rectangular hyperbola.

AR TR @R TE GOl HAORNR
wda |
(ii i:[EJ _du /dv
dx v dx/ dx
Define homogeneous function.

FACSTaE Fe=q S5 fad |

State when two matrices A and B are
conformable for multiplication.

A G B (o 51 7R Sea e
237
Evaluate :
= fAefy 47 :
2 2
i (x+h)* -x
h—0 h

Define inverse of matrix A.

AT RA3e (o= g fa |

If z=x8 —2x‘2+10x, find the value
dz

of —.
dx
i z=x® -2x72 +10x, gi_amﬁcfgwq

( Turn Over )




(4)

2. Answer the following questions : 2x5=10
oo i 2ppTRd Ted -

(@)

(b)

()

(d)

A9 /42

Solve :
ST <41 ¢
3x2 -14x+8=0

Find the value of _d_y, if y= Jx ;
dx 2x+3
Jx

dy
= 2F, —2 9 4 foiefq 41 |
% DXL dx

N0
AN U872
4 S
prove that (A)" = A.
7w
2021 !
A= ORT " 7
4 3 8

o1 41 (& (A)’ = A.

20 4 0
A= =
[1 3]anclB [5 1“\

Show that(A+B) = A’ + B”.

Given

( Continued )



(S)

2 0 4 0
= oF B= e
FdtmaE
@S A (A+B)' =A"+B".
(e) When is a function y= f(x) said to be
continuous at a point x=a?
I 9ol Fo4 Yy = f(x) i x.—_alaﬂi\s
wffora 1 P11 = ?
3. Answer any four of the following questions :
5x4=20
wero firl eppRd A (Il BIiNR Se il

(@) If u and v are differentiable functions
of x and y=uv, then prove that

dy _ d(uv) ugz+ du
dx dx dc  dx
I u F v, xI FA9 A, HF y=uv, 9
N A
dy_d dv du
uv ey ==
— dx( ) =u dx+u o
(b) If x=2t+3 and y=t2 -1, prove that
_qlg x—-3
va
) _ 42
M x=2t+3 AF y=t2-1, oy Fq A
dy _x-3
Gk 2
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(6)

(c) Evaluate :

= fefa <

(b+0) c b
C RN (GERo) T

b a (a+h
T 2y rmd the yalie! of %’i
pa
and a_u
Yy
M u=x%y+xy’, i [ iu—!i = efy
ox dy
<41 |
(e) Find :
= e <41
_[xze"dx

(i Find out the equilibrium price and
quantity of the following market model :
e il qEq WROE ARl SR w9 e
GIR A1 fefy 94
Q4 =15-2P
Q, =-5+2P
Qg =0s

A9/42 : ( Continued )



(7))

4. Answer the following questions : 10x4=40
o eppRd ©ed il
(a) (i) Differentiate between lim f(x) and
f(a) x—a 2
lim f(x) 9% fl@3 TE© AR
x—a
ferr |
i) If f(0) = =%, show that f(l—‘fj = x
(@) 15 x 1+x 2
=%

Flg =X dee
lIﬁﬂx)dlﬂc’ Cﬁ@ﬂf(lﬂc)

(i) If
2
f(x)=xx_ for x=#1
=2 for x=1

show that f(x)is continuousatx=1. 2

3

2—.
f= afom xe1

=9 Cﬂf\:‘bm x=1

C‘f'-‘i\"»ﬂT A x=1 ﬁ’-@ f(JC) W
Hf<ifozs |
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(8)

(iv) Define with examples : 2+2=4
THRAT e K A

(1) Null set
e e

(2) Subset
TR

Or / 5=<T

If

w
(o)

eS8 4 il
A= SRRSO RES Tan dEE =1 =1
=il, = & 7/

N N
W =

find the value of AB and BA. 5+5=10
i
29 "B 1 3 6
A=l O3l BIERB = i=1 2 1
-1 -2 3 i

[\
w

AB ¥ BAT I fa¢fg &1 |

(b) Solve (by using Cramer’s rule) : i)
SN 91 (e o sl )
2x; + x5 +3x3 =15
Xy —=2x, +5x3 =13

A9/42 ( Continued )



(c)

A9/42

(9)

Or / 931

Solve (by matrix inversion method) :

s 391 (ReRie ceese o)
2x-3y+5z=11
S5x+2y-7z=-12
-4x+3y+z=95

@ fy=(? +10)(x3 -2x +16), find the

value of % using product rule of

differentiation.
y=(x2+10)(x> -2x +16) T T{HE

W@mw%wﬁ%am

fAefa =1 |
(i) 1If

y=1+J)_c

1=~/

find the value of@.

dx
Ify

=1+J§

1-x

Y = s foefy <441 |

dx

(i) Write the quotient rule of
differentiation.

SRFe SEPeT] BURF oCo! forit |
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A9/42

(10 )

Or / 91

Find the value : 3+3+4=10

= fRefg 41 ¢
. (x3+4)2dx
Ol

I 2x+2
(%) I ) = Sic
(x2 +2x-10)

(i) [ (x? ~2x+10)dx

a2
@ @ If y=(2x—1J-CQ—), find the value of
(i +3x5)
ax; dx,
D )
=22 -%5) 2 Y e g
(e +3x5) 0% dxy
fadfg 11

(@ If the marginal cost function is
MC=12Q% -4Q+5, where Q is
output, find the total cost function.
3 29T I/ T MC = 1202 —4Q+5

A, T Q TeAM WA, TP I T
ety 4 |

(i) [e™ax >
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(11

Or / 911

(i) Examine whether the matrix

A 4

satisfies the matrix equation
A2 -5A+7I=0, where I and O
denote respectively identity matrix
and null matrix of order 2 x 2.

) il
(T A=[_1 2] EYCR
A2 —5A + 71 = O SRIFICH FHYH IS
@ 72 =R 10, T [ HE 09 FIRE
2x2 TEH GFF GE WF PO
T TR |

(i) Write a note on the significance of
static input-output model.

Qﬁ G - SR W WleoEq 8Fe
o1 COIT fo7a1 |

5

* K &
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2018
ECONOMICS
( Major )
Paper : 3.2

( The Monetary System )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o PR T i '
fa) What do you mean by monetary
standard?
q@ere N4 e o 3@
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(b)

(c)

(e

(e)

(9)

(H)

A9/43

(2)

What is the most liquid assets of a
commercial bank?

T @5 SRS ©Ie IT=ATCH! 3 2

What is money market?

TR I&F 2

Mention one limitation of open market
operation of the Central Bank.

REE G @ IGE A ol ARl
TCEY 99 |

What is stock market?

15 Ry (v 1 sy ofae IEE 2

Who frames the monetary policy in
India?

SIS MRS (e fHefET F¢3 2

Give one example of near-money.

iP5 b1 Tz i |

Define credit multiplier.

Yo BP9 g |
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(3]

() Write one objective of commercial
bank’s portfolio management.

MR Q@FE Fom ARGERR 96l S
o1 |

() Define margin requirement.

e SRHIFeR Hew] Ml |

2. Answer the following questions : 2x5=10
oo PR O fid ¢

(a) What is token money?

ofSis w1 8 2

(b) What is monetary policy?

Tiaie e 5 a2

(c) What do you mean by supply of money?

R @ e o 382

(d) Why is the Central Bank called lender of
last resort?

@ @ 57 TR T AW @ =0 ?
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(4)

(e) Write two characteristics of under-
developed money market.

SIS Y@l I&EE 70T ¢S for |

3. Answer any four of the following questions :
5x4=20
O PR R e vifReR SeR fia

(@) “Money is the central pivot around
which the whole of the capitalist system
revolves.” Explain.

T T @5 e Iw et e i
E] ARSHT T¢I 1”7 707 90 |

(b) Write the limitations of credit creation
process of a commercial bank.

T @q 4sre @ G TR MR-
3 fer |

(c) EXplajn the role of Central Bank zs a
Custodian of foreign exchange reserves

of the country.
R QPR quR <feq 7w B @@
IR iR <7y < |

A9/43 { Continued )
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(@

(e)

(5]

Explain the importance of capital
market in an economy.

G YISO Fer4 o FFg I 37 |

Write various features of financial

system.

8y TN Rfew afErm= fom

What are the objectives of credit control
by the Central Bank?

CFEN 51 97 PR Sorimz R 2

4. Answer the following questions :

oo ePPTRd e fi
(a) Describe various functions of money. 10
TR fRfen srfea 36 0
Or / S[1

A9/43

“Money is a good servant, but a baq
master.” Explain.

‘aE 2'E T oE ORS, R QW fres
BUSUEEIN
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(6)

(b) Draw a Balance Sheet of a Commercial
Bank and explain the items included as
liability and assets of it. 4+6=10

AT @ G-oieT™ 9 el e
2Fe R e S@pe (A e Raaeae
3efel] 341 1

Or / <1

What is Commercial Bank? Explain the
role of commercial bank in a developing

economy. 2+8=10
AR @ 2 Tme wdAes ik
@SR ST 94T

(c) Discuss the selective - credit control

measures of the Central Bank. 10
@I @q QRPE ¥ FEEE mieTR
HTCETo=] 41

Or / 41

Discuss the objectives of monetary
policy in underdeveloped countries.

:;L‘ﬂﬁmwgmﬁi@mwm
|
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(7))

(d) Explain the functions and importance of
stock market. 5+5=10

B RS IROTYR WIF GFR IR0 1
Or / S=2ST1

Discuss the role of Non-Bank Financial
Institutions (NBFIs) in an economy. 10

@27 HFAOS S-S [ e
AP ST 1 |

ok ok
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